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(D3R m b BIAH.
(2)% y1>yz ,U'\'J X E"Jﬁﬁ?ﬁ@%
(3)3RMHIE AOCD (T .
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A FPAR/ A By AR/ #
il 117 17
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PRIFIZRE R

£—E

Y1 FE=MIE

% 1R
[(FA#H B4R, EEFHN]
ELRIGI R 1
MEW . ' CAB=_DBA, /DAC=_/CBD,
~./DAB= /CBA.
£ /ANADB Ff1ABCA
~ DBA= /CAB,
AB=BA,
14[)A3:4CBA,
S AADBL ABCA(CASA).
S AD=BC.
BizTx1 1.B 2.B
bR 1
1.120°
2.f . (DB RAME—, . AABEX2 ACDF, ANABCX
ACDA.
(2) B LR — WL H AABERACDF GER AN T
.t AF=CE,
S AE=CF.
**AB//CD,
~./BAE=_/DCF.
Y /ABE= /CDF,
S AABEQ2ACDE(AAS).
B G B 2
WEW : " AD ¥4y £ BAC,
../ BAD= /CAD
Yt AD=AD,AB=AC,
S AACDRAABD(SAS).
S /B=_/C.
RIERTK 2
D65° 657 @90° 45° 90° 45°
Zi SR 2
1.75 2.20
[E&NK, EE4 R
1.D 2.B 3.C
4.70° 2
5. 8 ZAME—, M. AB=DE
6.1EM . /BAD=_/CAE,
s/ BAC= /DAE.

=ZRAFERIER

N BC=DE, /B=/D,
S NAABC2AADECAAS).
S AB=AD.
7EW S AB=AC,
S /B=/C.
N AD=AE,
s LADE= /AED.
S AABELANACDCAAS).
SBE=CD.
[FIANE, HREH]
1.B 2.D 3.36° 4.111#f 13

5.3E# . " </ BAC=_/DAM, /BAC= /BAD+ _/DAC,

/ DAM= /DAC+ / NAM,
S/ BAD= /NAM.
AB=AN,

TEABAD MIANAM i ,< /BAD= /NAM,

AD=AM,
S ABADL ANAMCSAS).
S./B=_/ANM.
6. E#: (1) AD | BC,CE | AB,
s/ AEF= /CEB=_/ADC=90".

s /AFE+ /EAF= /CFD+ /ECB=90°.

Y /AFE= /CFD,
.. /EAF= _/ECB.
1ENAEF #1ACEB v,
/ AEF= /CEB,
AE=CE,
~ EAF= /ECB,
S AAEFLNACEB(ASA).
(2)'* NAEFL ACEB,
S AF=CB.
# AABC ¥, AB=AC,AD_| BC,
~.CD=BD,BC=2CD.
S AF=2CD.
% 2 R
[ ER,EEH ]
BRI G 1
JEB " CE|AB ¥4 E.BD|] AC ¥4 D,
s L/ AEC= /ADB=90".
NCAC=AB, /A= /A,
S AACE2AABD(AAS).
~.CE=BD.

. 25



#Zibsefk 1
1.5
2.9EM ;" CE \BD 5l J AB \AC i1 L4k,
¥ AB=AC,
S.BE=CD, /ABC= / ACB.
Y. ' BC=BC,
S ABCEX2ACBD(SAS).
..CE=BD.
HARIGI 2
fit. " NABC 2%h =M.
S/ ACB=60".
S HEABCD Wi, /CDB=_/ACB— /1=60"—20"=40".
L) m,
/2= _,/CDB=40".
REETR 2 120°
Zibsadl 2
1.3 2.3
3. (DIERT . " AABC H%5h =M%,
.. /ABC=_/C=/BAC=60°,AB=BC.
EAAMB f1ABNC 1,
AB=BC,
~/ABM=_/C,
BM=CN,
S AAMBL ABNC(SAS). . AM=BN.
(2)" AAMBXL ABNC,
../MAB= _/NBC.
S/BQM= /MAB+ /ABQ= /NBC+ /ABQ=
~/ ABC=60".
[B&NR, EHHNRF]
1.D 2.D 3.C
4. 5EH S 5.3 6.60°E 120°
7.9E8 . " AABC MIABDE 2% =it .
S AB=CB, /ABE= /CBD,BE=BD.
S AABEX2ACBD(SAS). S AE=CD.
S8.iEM . " ANABC MIANADE &% =4 ,AD Jy BC
R,
S AE=AD,AD i /BAC /¥4 4.
./ CAD=/BAD=30".
../ BAE=_/BAD=30".
TEANABE #MIAABD
AE=AD,
{4BAE4BAD,
AB=AB,
S AABEXL ANABD(SAS).
..BE=BD.
[FigMEF,inBIEFH]
1.D 2.C 3.18 4.45°
5.ff " ANABC 2% =¥, BF JE ANABC 5,
.'.4/\3():%4/\3(?:30“,

AB=AC.
**AE=AC.,..AB=AE
" AO } ./ BAE (/4345 ,
~./BAO=_/EAO.
1EAABO FIAAEO W,
AB=AE.
~/ BAO= /EAO,
AO=AO,
S AABOXL AAEO(SAS).
.. /E=_/ABO=30".
% 3R
[(BA#H B+, EEFM]
ARG 1
f# . (1) BD=DE J& IE#i 4.

. AABC % =8 . BD ¥4 L ABC,
~./DBC= %4/\3(,‘: 30°, L ACB=60".

s/ DCE=180"— _ACB=120".
¥ CE=CD.
S/ E=30".
~./DBC= /E.
. BD=DE.
() g g BD | AC(5% 45 D AC #1450,
et BD_|AC,
S/ BDC=90",
~. ./ DBC=30".
i (D41~ E=30°,
s/ DBC=_/E.
~.BD=DE.
BEwxtl 1.C 2.C
ZibEWL 1
1.O®
2.9EW . AB=BC,.. /A= /C.
**DE//AC,.. /BDE= /A, /BED= /C.
../ BDE= /BED. .. BD=BE.
. ADBE % BE=fE.
BRI R 2
/B+/C=180" 180° =fENMAMZ%ET 180° B
+/C>180° 180° Z=MIELHNMMET 180° Bif
Zib B 2
L—A=MEheEamifEEm
2UEH R a 5o M T ML Uk M S W Sk H AR
FATFHZ s
XS HE—-EFTFTOHNELENELEAFHLRA
— 27
T AR N SE s B a /) b.
4 —e

oo a0

C

[B &N, Bt 4wl

1.B 2.A 3.C

4.40°5% 70° 5.3 6.9 cm

7. LA=42°, / NBC=84",

S/ C=_/NBC— /A=42°

S SA=/C.

S BC=BA=15X(10—8)=30({ H).
2 B 5ATE C MG 30 g L.

[FiERE,BRIEFA]

1.A 2.25

3LEERE 4.7 5.(0,)E 0, —4)

6. 9FH ;" DE//AC, .. / DAC= /EDA.
' AD 4y /BAC, .~ / DAC= /EAD.
./ EAD= /EDA.

**AD_| BD,
./ EAD+ /B=90°, /EDA+ /BDE=90".
~./B=_/BDE, I ABDE J&% & =f¥.

% 4 g

[FH# B4, BiEFH ]

BRI 1

kW /B=_C,..AB=AC.

¥ " BD=CE,.. NABDX AACE(SAS).

S AD=AE.

X /ADB=120°,.. L ADE=60".

S AADE REH =M.

BT 1

1.B 2. &=

BB 1 1.D 2.a
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BRG] 2

fi# . LACB=90°, /A=30°,BC=8 cm,

S/ B=60°,AB=2BC=16 cm.

Y CD|ABFD,.. /BDC=90". ..

DB:%BCZKL cm.

S AD=AB—DB=12 cm.

RiTK2 C

B2 1.6 2.10

[B&NR, EHWR]

I.A 2.C 3.C 4.5cm 5.4

6. (1) /E=30°.
(2)/\BDE 2% E =¥, B k.

7. (IEM . " AB=AC., BAC=120°,
./ B=_,/C=30°.
WAD £ BC hfgrp 4k, -

S/ BAD=60". .'.AD:%AB.

.AD | BC.

'UﬁEﬁAB%¢%LLAE:%AB:AD
M.
./\E:DE:%AB:L

S AADE 243 =
() f# -

[RI¥EAT 15 AF=DF=1.
W P13 AEDF [ )8 K & 4.
[FiFMEF, R RIEF]
1.C 2.B 3.20° 4.26
5. (1" AABC 2% =M ... /B=60".
**DE//AB,.. /EDC=_/B=60".
**EF | DE, .. /DEF=90".
S/ F=90"— /EDC=30".

‘AB=2,.

(2)* SACB=60°, /EDC=60°,
SAEDC E%ih = . .DE=CD=2.
"t /DEF=90°, /F=30°,.. DF=2DE=1{.
Y2 HA=MIE
£ 1R
[BA# EAR,EEF ]
#BmEAFGH 1 O

BREEX1T D

BmOEIL1 1.C 2.C
HEIGIE 2 TR
REETEKX2 1.2.4 2.D

iR 2

1./5—1
2.f#% . AC1 CD,CD=12,AD=13,
SAC= /AD' —CD* = /13 —12° =
X" AB=3,BC=14
SABE+BC? =37 +4~*~ AC?,

S/ B=90°.
<o Swimmascp = Saasc T Saacp

:%AB . BCvL%AC . CD

1 1
=5 X3X 4+ X512
=6+30
=36.
HEGHES OO
RT3 A
ZisEfk 3
f# - (DRI F AR S, P B4R 17, B A,
OMWE at+b ZHELI 4 aﬂ&};ﬂz b IR AL

/. DCB=30°.
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[(B#MK, EHRRE]

1.D 2.C
3.5m 3.75m 4.(4,0) 5.10
6. 6 2 m] A S Bl HE S A 0. 8 m.

7.AD=5./34+10,CD=10/3+5.
[FEAE, ARBIREFA]
1.A 2.A
3.6 3% 10 4.20
5. fift. fF /NABC W ,AB=15,BC=14,AC=13,
W BD=a.l]| CD=14—z.
) e Mg AD* = AB* — BD* =15 — 2* , AD* =
AC*—CD*=13"— (14— 2)*%,
157 —2° 7132704—1)3,

g =
S AD= /AB*—BD* = /15" —9*=12.
SoSaase :%BC . AD:%X 14X 12=284.
%2 R
[FA#% B, BEFH ]

BAIGIFE 1
JEME . AD| BE,.. /ACB=_/DCE=90",
**C 4 BE i, .. BC=EC.
1 RtANABC 1 Rt ADEC v,
AB=DE,
BC=EC,
S RIAABCLRtADEC(HL).
s/A=/D. ..AB//DE.
EEE:? |
1. A
2. 48 7% S iE W Rt ACDBXL Rt AC' D' B', M Tiii 2 %
/B=_/B', A\ E“ ASA” 55| AABCRNAA'B'C'.
g 1

1.B
2.9F W . 1 ANABC fil AADC W, S ABC= /ADC =
90°, " AABC FIAADC #BK B fl = fI%.

£ RtAABC #1 Rt ADCB 1,
AC=AC,AB=AD
S RIAABCLRIAADC(HL).
../ DAE= _/BAE.
S AADEXLANABE, ..
BRI 2
WERH . EF | AC, . /F+_/C=90".
A+ C=90°,. . LA= /F.
Y ‘" DB=CB, /FBD= /ABC,
S AFBDLAABC(AAS).
. AB=FB.
BETN2 C
g4 2
2B BRI —
B RIGIRR 3
f# . DAl ABF A.EB|1ABF B,
S AADC MIABEC R Hf =M.
VO CREBBAB R AL S AC=BC.
“NEFI/NAL AL B K, LA [R] S 4 O VR R A% HL 4k
friE JfFFEEF Rk DLE Wi, . CD=CE.
S RIAADCLRtABEC(HL).
S BE=AD=50 .
2 N R B BE AB 1 FE B R 50 k.
i 3
fit :AD HJ 16 ,AB 2} 20,BD H 12,
1284162 =207,
s/ ADB=90".
T AC=25,AD=

EB=ED.

.4n. ~BAC=_ABD

16,CD=9,Hll AC=AD-+DC,



SADCEABEAE—KHL E0l . BDC=90°.
¥ BD=12,DC=9,..BC= m:b.
i B, C Z B f A R4 540 15 6.
[8&NK, EE4R]
1.A 2.B 3.D
1.ABC DCB HL

5.8 6. /10
7./ (DWFEW . ~ABC=90°,
»./CBF=_/ABE=90".
1E£ RtAABE #l Rt ACBF 1,
AE=CF,
AB=CB,
S RtAABEXLRt/ACBF(HL).
(2)'*AB=CB, /ABC=90°,
s /CAB= _/ACB=45".
. /BAE=_/CAB— /CAE=45"—30°=15".
B (D% RtAABEXLRtACBF,
~./BCF= _/BAE=15".
s /ACF= /BCF+ /ACB=15"+45°"=60".
[FERE,IREIRFA]
1.A 2.D
3. D@0Q 4.5 10
5. (DIFEEY ;. BD_| DE,CE_| DE,
s/ ADB=_/CEA=90".
7 RtAABD 1 Rt ACAE i,
" AB=CA,AD=CE, .. Rt N\ABDLRt/A\CAE.
~./DAB=_/ECA, /DBA=_EAC.
" /DAB+ _/DBA=90°, S/ EAC+ /ACE=90°,
s/ DAB+ /EAC=90°,
/BAC=180°—(/DAB+ /EAC)=90".
(2)AB AC.
WE W . B 2 5 iF 1S RIAADBL ARIACEA,
./ DAB= _/ECA, /DBA=_EAC.
'/ CAE+ /ECA=90°,
s/ CAE+_/BAD=90°, 81 / BAC=90°. ."

ABO DCO AAS

V3 B AP g

% 1R
(A iR, BiEHM]
AR 1
WEM W DE JE AB B H 002k
S EA=EB... /EAB=_/B.
"/ C=90", . /CAB+ /B=90".
X /AED+ /EAB=90",
~. /CAB= /AED.

Bl 1.B 2.6 3.6
BOEK 1 1.B 2.C
RG] 2

EEA " C=90°, L A=30°,
s /ABC=90"—30°=60".

““BD ¥4y /ABC, ..

~./A=_/ABD. ..DA=DB.
& DAEAB MEHF L L.
REEERX 2 A

RSB 2

4ABD:%4ABC:30°.

1LAD 2.1
[B& N, BEERT]
1.C 2.C 3.C 4.C
5.35° 6.10

S ABAC.

-AB| AC.
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7.(1)90°
8. fift

S ABC=

(D= (37
“CAB=AC, / A=40°,
4(,7:%(180"*414) =70°.
" MN i H 45> AB,

S AD=BD, /ABD=_/A=40

»./DBC=_/ABC— /ABD= 30
[FiEME, IREIEFA])

1.B_2.B

3.34/3% 4.70° 5.30°

6. 9FB: (1) AD//BC... /ADE= /FCE.

VEJECD .S DE=CE.

X /AED= /FEC,.. NANADEX2AFCE(ASA).
S FC=AD.

(2)"* NADEX2 AFCE, .. AE=FE,AD=FC.

X BE|AE,..BE 2% B AF 3 H V4.

. AB=BF=BC-+FC.
**AD=FC,..AB=BC+AD.

TEW] U E & BD 3R B — A
S EB=ED. .. /B=/D.
X ACB=90°,
S /A=90°— /B, /CFD=90"— /D.
' /B=,/D,.. /CFD= /A.
Y /AFE= /CFD,.. /AFE= /A.
S EF=EA. .. )5 E ff AF i 5402 |-,
% 2 gmt
[BA® B4R, LEFH ]

BRG] 5R 1
fift: " AB FIAC M3 B V2442 BC TH DE,
~.BD=AD,CE=AE.
S/ DAB= /B=32°, /EAC=
S /ADE= / B+ /DAB=64°,
/AED= /C+ /EAC=96".
S /DAE=180°— /ADE— / AED=20°,
AADE )8 % AD+ DE+AE=BD-+ DE+ EC=BC
=6 cm.
BTN 1
#isEfk 1
1.C 2.FH¥HE PB PC
1 50 5 57 2
fift AR (DIEL B AD=a;
(it DEHZ MN |LAD F 4 D;
LI AR b KR mMIN, 58 MN F B,C Wi,
¥ AB,AC, ANABC B Ry Bie sk, tn 18 i s
A

S C=48°,

1.D 2.15

N2

)
aL
)
&
=

RiEEX2 LA 2.0

BB 2 1.D 2.C
[8 &N, EEF]

1.D 2.B

3.30° 4.40° 5.4
6. 75 . ¥ AM, |~ BAM= /B= /(C=30°,

Al 1%/ MAC=90°, ff A CM=2AM=2BM.
7. f# . (1) DM,EN 4353 H 43 AC 1 BC,

S AM=CM,BN=CN.

S ACMN )l = CM+ MN+ CN =AM+ MN +



BN=AB.
** ACMN 8 KK 15 cm, . AB=15 cm.
() /MFN=170°,
S /MNF+ /NMF=180"—70"=110°.
' /AMD= / NMF, /BNE= /MNF,
. /AMD+ /BNE=_/MNF+ /NMF=110°.
S /A+ /B=90"—_ AMD+90°— /BNE
=180°—110°=70".
** AM=CM,BN=CN,
S /A=_ACM,/B= /BCN.
S/ MCN=180"—2( A+ /B)
=180°—2X70°=40",
[FiFMEF, R RIEF]
1.D 2.B
3.160° 4.108° 5.28°
6. WEH] . % H: BD f1CD,
** DM F H V4> BC... BD=CD.
D & /BAC F 4 & LA, B BECT
DE_| AB,DF_| AC, .. DE=DF. ’
S RtABDELRtACDE. .. BE=CF.

Y4 faPorek

% 1 iRet
[FA#s B4R, IiEF ]
EEGI @ 1
fit . (D RtAABC 1, /C=90°, .. AC_| CD.
X' AD ¥4y /CAB,DE_| AB,..DE=CD.
Y CD=3,..DE=3.
(2)TE RtAABC 1, /C=90°,AC=6,BC=38,
S AB= /AC'+BC = /6’ +8 =10.

<o Saaps :%/\B . DE:% X10X3=15.

(% Sy :%BD . AC:%X (8—3) X 6=15.)

RETLTNX1 D
BiE#H 1 1.B 2.B

#4501 B 2

figt: (DIEW . " AM V-4 ~ BAD,DM V% ~ ADC,
5/ MAD= %4BAD,4ADM=%4ADC.
“*ABJ/CD,

5 /BAD+ ./ ADC=180".

5 /MAD+ /ADM= %(4BAD+ ~ ADC)=90°.

X /S AMD+ /MAD+ /ADM=180°,
S /AMD=90°. .. AM_| DM.
(2)id MAEMN | AD F 45 N.
A
N

B

M
“*AB//CD../B=90°,.. /C=90".
Bl BM_| AB.MC_| DC.

' AM.DM 4384y~ BAD. / ADC,
“.BM=MN,MN=MC.

S.MN

1o
7BC74.

SRl M E|AD HBEES Oy 4.
BETRX2 LA 2.4
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Zi 5Bk 2

LA 2.C

3GFEMA . (D& AP,
**PE| AB.PF ] AC.
S/ AEP=_/AFP=90".
Wt AE=AF.,AP=AP,
S RIAAEPLRINAFP(HL).
. PE=PF.
(2)"*PE=PF,H PE| AB.PF_| AC,
SOECPAE L/ BAC 1426 |

(8 &N, EEL4NR]

I.LA 2.D 3.D 4.2.6

5.f#: 7£/ABDE 1 ,DE | AB,
A g #A DE=3 cm.
“*AD ¥4y /BAC, /C=90°,DE | AB,
S DE=CD=3 cm.
S.BC=CD+BD=8 cm, H AC=AE.
% RtAABC i, ] AC*+BC?=AB?,
8 AC*+8* = (ACH+H4)* ,fift 1% AC=6 cm.

6.3FB . (1) CD_ AB.BE_| AC,OC=0B, /3= /4,
S AODBLAOEC (AAS). ~.OE=O0D.
S OTELBACHEA & B o L1= 2.
(1= ,2,..OD=0E.
X CD| AB,BE| AC,.. /ODB=_0OEC=90".
NS /3= /4,0 AODBLAOEC (ASA).
S.OB=0C.

[FEARE, AREEH]
1.C 2.D
3.4 4.3 s.%ﬁ

6. (1)IER . " BD,CE 2 AABC /9

../ BEC=_/CDB=90".

¥ /EOB= /DOC,.. /ABD=_ACE.

**OB=0C,.. /OBC=_/OCB.

s/ ABC= /ACB. .. AB=AC,

S ANABC N =M.

(2) 1 OTE/BAC 14346 |

. /BOE=_COD,/BOE+ /EBO=90°,

~ COD+ / DCO=90°,.". / EBO=_/ DCO.

¥ /BEO=_/CDO=90°,0B=0C,

S ABOEXACOD(AAS). ..OE=0D.

¥ OD ] AC,OE | AB,

S OFE L/ BAC 4348 .

£ 2 iRed

[BA# B4R, 1BEFH ]
BRI R 1
WEEH .3t 5 EYE EM | BD,EN |
AC,EH | BF.,# 24> %} M,
N, H.
' BE 4y /ABC,EM | BD,
EH | BF,.EM=EH.
[713,EM=EN. ..EH=EN. B
Sl E WAESNMA S CAF (57048 b
REEEKX1 D
ZiEik1 1.D 2.C
(8 &N, EEE4R]
1.C 2.B 3.D
4.60° 5.150° 6.2 cm
7.3 . CE_| AB,BD_| AC,

./ OEB= _/0ODC=90",

X *OC=O0B, /BOE=_/COD,

S AOBEXLAOCD (AAS).
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SOE=O0D. .. i OFE / BAC W F-4345 .
[FERE,IRERHA]
I.A 2.D 3.C
4. FG,CE
5.9FH8: " PD | AC.PE| AB,PF | BC.,PD=PE=PF,
S P REAABC =AM 2058 .
S CP %4y /ACB,BP -4y / ABC.

5 /PCB= %4ACB ./ PBC= %4%\1—3(?.
5 /BPC=180"— / PCB— / PBC

~ 180~/ ACB— 1/ ABC
—180°— - (LACB+ ./ ABC)
—180°— - (180°— L A)
=90+ LA,

521

|G IR 3-8 o) |
LRI GI 1
fift: (DUEBA . " AE fil BD #iZ2 545, O,
~./AOD= / BOE.
/A= ,/B... /BEO= /2.
s 1=,2,0 /1= /BEO.
s /1+ /AED= /BEO+ /AED,} L/ AEC= / BED.
% ANAEC f1I/ABED t,
/A= /B,
AE=BE,
~AEC= /BED,
S AAECLABED(ASA).
(2)"* NAEC2ABED, .. EC=ED, /C= /BDE.
wEAEDC
**EC=ED, /1=42°,.. /C=_/EDC=69".
S /BDE= _/(C=569".
REEET1 3
i B 1
1.A 2. /A= _/DUEZRME—)
3. BC=FE(&ZARME—)
BRI B 2
fitt: (DIEW " AABC %51 =M%,
s /ABC= /ACB=60°.
**OD//AB,OE // AC,
s /ODE= /ABC=60°, /OED=_/ACB=560°.
S AODE 2% = fE.
(2)BD=DE=EC.
FiH OB Y4 /ABC,H /ABC=60°,
s/ ABO=_/0OBD=30°.
**OD//AB, .. /BOD= /ABO=30".
~.~/OBD= /BOD. .. DB=DO.
[§ ¥, EC=EO.
i (DAL AODE 2% =M.
~.DE=0OD=O0E. .. BD=DE=EC.
B BERAME— . O AOIJFEK R BC Fri F,oR
iE: AABF 21/l =M.
QEHFNNABC ikl 1,3k BC 1 EM&E.
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BRET 2
1.44/3 2.D 3.(0,)F0,—4)
BB 2 1.55° 2.1
R G @ 3
fift: CDIEW] " 7EAABC fIADCB W, L A= /D=90°,
S AABC HIADCB #5°h B — T,
. . AC=DB,
1 RtAABC 1 RtADCB i, BC—CB.
S RIAABCLRtADCB(HL).
(2)/ANOBC &% M = e
W . " RIAABCLRtADCB, .. / ACB=_ DBC.
SOB=0C. . NOBC 2% =%
RT3 1.D 2.7 3.C
e 3 1.D 2.“HL” 3.D
BB R 4
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